H & 0l & AHS B Ml A

FA SIS
. Lo=s1sd
oelr LOISX 20X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Arel S X110t 132,144,588 113,426,746 18,717,842
= 75,153,379
[ 2,333,223
Jl 50,320
< 12,146,656
Al 40,861,010
CH 1,600,000
el NEFS! 98,303, 161 81,187,607 17,115,554
= 61,123,862
[ 1,422,103
= 7,417,268
Al 26,739,928
CH 1,600,000
LoI=EX 20X 75,237,469 64,896,590 10,340,879
= 61,019,728
[ 1,357,643
= 2,548,633
Al 10,311,465
DIESUI=gN=, 60,724,328 53,836,741 6,887,587
= 54,654,359
S 1,213,994
Al 4,855,975
301 EtE NS 60,724,328 53,836,741 6,887,587
= 54,654,359
< 1,213,994
Al 4,855,975
01 AR 2EHSHS(RNEXRTHE) 60,724,328 53,836,741 6,887,587
O21=H=(15,917H) 60,724,328,000& 60,724,328
= 54,654,359
=S 1,213,994
Al 4,855,975
ColgiNtel R AISIESKIE (L2l & ALE 10,003,252 7,925,148 2,168,104
2= oA X&)
= 5,046,626
== 756,994
Al 4,289,632
307 212+01& 10,003,252 7,925,148 2,168,104
= 5,046,626
= 756,994
Al 4,289,632
1 AMISXAIEEX 10,003,252 7,925,148 2,168,104
Lolgxtel 2 ASIEsSRIR(2,2138)
10,093,252,000& 10,003,252
= 5,046,626




FA SIS
M Lol=X =X
oelr LOISX 20X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 756,994
Al 4,289,632
woIT 2 MSBEXE HOH(-OIX2 L Ml 702,450 0 702,450
g5 0okt X&) (=Hl)
= 361,225
Al 351,225
307 @120l & 702,450 0 702,450
== 361,225
Al 361,225
11 AMRISXAEEES 702,450 0 702,450
wOIUTRl W ANBIEE K (2232)
702,450,000 702,450
S 351,225
Al 361,225
woITe L MEEEXE HH(-OIX2 L Ml 518,88 404,235 114,651
25 dgey o)
= 259,443
= 38,916
Al 220,527
307 elzto| & 518,886 404,235 114,651
= 259,443
< 38,916
Al 220,527
10 Al2ISTIAIEEE 22X 518,886 404,235 114,651
O==8|2tdgel=! o121H((182)
518,886,000& 518,886
= 259,443
[ 38,916
Al 220,527
Coldxiel ¥ ASESXIE Si(aLXiel % A 28,827 0 28,827
25 Mgel™ oIHl) (<)
= 14,414
Al 14,413
307 gl2to| & 28,827 0 28,827
=S 14,414
Al 14,413
10 Al SXAEEE 22X 28,827 0 28,827
O%8)| 2R EoI2! 0121H| (1)
28,827,000& 28,827
< 14,414
Al 14,413
HAHSH(=AAIE) 1,177,000 1,070,000 107,000
= 1,059,300
[ 82,390




2A:

Hm: Lol=X|SX
oelr LOISX 20X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 35,310
307 gl2tol & 1,177,000 1,070,000 107,000
= 1,069,300
= 82,390
Al 35,310
11 AMEISXAIEEXS 1,177,000 1,070,000 107,000
OMASH(=2IAIE)(330)
1,177,000,000& 1,177,000
= 1,069,300
= 82,390
Al 35,310
oI ESESAEIAAE K& 1,871,740 1,553,840 317,900
[ 1,307,150
= 84,700
Al 479,890
307 elzto| & 1,871,740 1,553,840 317,900
= 1,307,150
[ 84,700
Al 479,890
11 AMEISXAEEES 1,871,740 1,553,840 317,900
OLQIBSEALIA(1,3612)
1,871,740,000& 1,871,740
= 1,307,150
< 84,700
Al 479,890
24 QI E A 20,000 20,000 0
= 6,000
Al 14,000
307 el2tol & 20,000 20,000 0
= 6,000
Al 14,000
11 AMEISXAEEXS 20,000 20,000 0
Q024! QI E AP (10HA)
20,000,000& 20,000
== 6.000
Al 14,000
SHCel SStHetMAEIA X~ 100,986 86,626 14,360
= 50,493
Al 50,493
307 el2tol & 100,986 86,626 14,360
= 50,493
Al 50,493
10 Al SXAAEEHE 22X 100,986 86,626 14,360




FA SIS
Hm: Lol=X|SX
el 2SN 20X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=AHLol SSrN A MHIAAS IR (317
) 100,986,000& 100,986
= 50,493
Al 50,493
OIS LB 21,712,625 14,965,198 6,747,427
[ 64,460
= 4,763,787
Al 15,284,378
CH 1,600,000
colgie & Hojelslat HE 4,314,296 0 4,314,296
401 Al HIZL 201 4,314,296 4,314,296
01 Al&H| 4,314,2%6 4,314,2%
O0lgl2t & Fofelsl2 g 4,314,2%
-E X0 dl 4,292,296,000& 4,292,296
-ARIEEAES 22,000,000 22,000
o=k 29 1,017,501 961,149 56,352
< 57,000
Al 960,501
307 elztol & 1,017,501 961,149 56,352
= 57,000
Al 960,501
05 2IHRIE S 1,017,501 961,149 56,352
OLol=X2 A (212H]) 777,664
-=20(16%) 566,931,000 566,931
= 57,000
Al 499,931
-Hi==&(16%) 100,991,000& 100,991
-EANES 54,827,000 54,827
Al 28R 83 61,867,000& 61,867
—J|Et= 42| 3,048,000 3,048
OLoI=EX2 2(&(22Hl)
239,837,000 239,837
CoI=EX2 HE(SEHA) 7Y 90,000 90,000
405 AHaHE = 90,000 90,000
01 AL =S F = 90,000 90,000
OosI2 M (SEHA) 7Y
90,000,000& 90,000
LoISXZ S SAHAL MM 10,200 10,200 0
=S 10,200
301 EtE NS 10,200 10,200 0
= 10,200
03 A2 E A =TS (XL THH) 10,200 0 10,200




2A:

E M

X=]

Ar2l = X 2t

ESSIE-INEFS]

D ol=x Upxd

RA - BB - SA(BH) - MRAES ofl &t G o HIDEZ
OLoI=X2 S SALL XMIHEH|
50,0003 x17H*12& 10,200
= 10,200
LOI=XAIE =Rzl 10,000 0 10,000
401 Al HIZL 01| 10,000 10,000
01 Al&HI 10,000 10,000
OLeI=XAIE RA2e 10,000,000& 10,000
Colgitiel o ASIESKIE SH(YXte a2 109,330 106,202 4,128
X2 (Abielswx))
=S 32,100
Al 77,230
307 21201 & 109,330 105,202 4,128
== 32,100
Al 77,230
05 2ItRIE = 109,330 105,202 4,128
Oaeliz® A (el2]) 106,930
-=0{(2¢) 77,326,000& 77,326
= 32,100
Al 45,226
-H==2H(2¥) 11,763,000 11,763
-EI AN S(2Y) 7,424,000 7,424
NI EERES(2Y) 10,417,000& 10,417
Oaltelzg 2H(2HHI)
2,400,000 2,400
LeI=X2 It 218 XA 20,000 0 20,000
s 6,000
Al 14,000
307 @I2t01 & 20,000 0 20,000
[ 6,000
Al 14,000
11 ARRIZXAIE 2 20,000 0 20,000
LolSX2 Ut T3 IR (101L)
20,000,000 20,000
= 6,000
Al 14,000
COIATIE] SAR ADIME MO (Ll Xie] =T 10,200 9,600 600
SA ML)
== 10,200
301 LtEN= 10,200 9,600 600
= 10,200
03 A 2E A2 (XILTHH) 10,200 0 10,200
OLoledXie] +=&J|2 SAHL M LIHEH]
50,0003 x17E*12& 10,200
= 10,200




FA SIS
Hm: Lol=X|SX
Rl ==X eI (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
colgiiel a2t & SAHL K& 10,000 10,000 0
= 3,000
Al 7,000
307 el2to| & 10,000 10,000 0
= 3,000
Al 7,000
1 AMISXAIEEXS 10,000 10,000 0
Lol +#II2 LUBH X2 (20H4)
10,000,000& 10,000
== 3,000
Al 7,000
LOI0IEAE SML Ex2RY 26,400 26,400 0
= 2,640
Al 23,760
301 EtE N = 26,400 26,400 0
= 2,640
Al 23,760
03 A2 E A0S (XILTHH) 26,400 0 26,400
OLolsX2 SAA S22+ (158)
26,400,000& 26,400
== 2,640
Al 23,760
LOI0IEAIE(oIRte]) EML Ex22E 3,600 3,600 0
= 360
Al 3,240
301 EtE NS 3,600 3,600 0
= 360
Al 3,240
03 A2 H A0S (XILTHH) 3,600 0 3,600
OLQloIEAIL (e XtR]) SAA S22
f(298) 3,600,000& 3,600
== 360
Al 3,240
A2 =QIAEHH X 42,644 36,535 6,109
S 12,793
Al 29,851
301 LEtE N = 1,300 0 1,300
= 390
Al 910
03 A2 E A0S (XILTHH) 1,300 0 1,300
OLQIaGHIE! ALK E+2242(1Y)
1,300,000 1,300
s 390
Al 910




2A: A=
M Lol=X =X
&2l oIS LEXA (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
307 212+01 A 41,344 36,535 4,809
& 12,403
Al 28,941
10 Al =S XA EBEER2IHIE X 41,344 35,035 6,309
OLQIAEHIE o1l XI&A
37,801,000& 37,801
T 11,340
Al 26,461
OLQIMEHE 298 X
3,543,000& 3,543
T 1,063
Al 2,480
SAHLO! IHIol&ERA 29 X 10,000 10,000 0
& 3,000
Al 7,000
307 2I2+01™ 10,000 10,000 0
T 3,000
Al 7,000
11 AR SXAEE X 10,000 10,000 0
OS=HEQ! IHI0l&6IRA 2 XA (1IHL)
10,000,000& 10,000
= 3,000
Al 7,000
HNAS THIOH=OL AAMHE 216,000 189,000 27,000
& 21,600
Al 194,400
307 212+01™ 216,000 189,000 27,000
T 21,600
Al 194,400
11 AMSISXAEEX 216,000 189,000 27,000
OMAS THIHEQ! AJAIHHE
4,0002 x180Y 262+ 12& 216,000
= 21,600
Al 194,400
LOIUZQAUALEAMA SE+22E 54,720 55,680 A960
& 5,472
Al 49,248
301 LPENF 54,720 55,680 A960
T 5,472
Al 49,248
03 A B &E 262 (RIY M) 54,720 0 54,720
LOIUZQAAMSAIA E422E X
=(33Y) 54,720,000 54,720
T 5,472




SA: AR =X

Hm: Lol=X|SX
Rl ==X eI (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 49,248
LRIAZRAANE JzdeEsslt N2 S 10,931 14,054 A3,123
== 1,004
Al 9,837
307 212+01& 10,931 14,054 A3,123
< 1,094
Al 9,837
11 AMEISXAEEES 10,931 14,054 N3,123
LOIAZQAAL JIZMESZI XA (21
) 10,931,000& 10,931
= 1,004
Al 9,837
LORIRY ANESH 7,971,522 9,069,488 1,097,966
== 3,985,761
Al 3,985,761
307 212+01& 7,971,522 9,069,488 1,097,966
< 3,985,761
Al 3,985,761
11 AMEISXAEEE 7,971,522 9,069,488 1,007,966
O AIE30{(290E)
7,971,522,000& 7,971,522
= 3,985,761
Al 3,985,761
LRIEIIRSY Mots 4,131,772 3,300,857 830,915
== 413,177
Al 3,718,595
307 212+01& 4,131,772 3,300,857 830,915
< 413,177
Al 3,718,595
11 AMEISXIAEEES 4,131,772 3,300,857 830,915
OFIILY IS0 (267H)
4,131,772,000& 4,131,772
= 413,177
Al 3,718,595
CRIREESSAMEIA SAL MM 4,800 4,800 0
s 4,800
301 LEtE N = 4,800 4,800 0
= 4,800
03 AR 2HH 6= (XLMHSA) 4,800 0 4,800
OLIXESSAHIA SAL MRIMEHI
50,0002 8 * 122 4,800
= 4,800
SS AT MEIA BAIL MR 1,200 900 300
[ 1,200




FA SIS
M Lol=X =X
Rl ==X eI (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 1,200 900 300
= 1,200
03 A 2H A =TS (XILTHH) 1,200 0 1,200
OSTOTAAHIA SAX ML X
22 1,200,000& 1,200
< 1,200
Oiere0lsl X (AIXIE 29) 76,233 73,755 2,478
307 21201 & 76,233 73,755 2,478
02 LB AANHEE 2,200 2,200 0
O-olated A X 2,200,000 2,200
03 M EE2SHIEX 74,033 71,555 2,478
Olgt=2l3l AlXlz 2¢ 74,033
ekl 60,433
AMNE=F 28,213,000 28,213
SRR 32,220,000& 32,220
-23H| 13,600,000 13,600
SEEX Ald2e] 87,400 135,140 AN47,740
201 Ler23| 47,400 44,900 2,500
01 At2teltl 5,400 4,400 1,000
OS&RA 2|4 28 3,000,000 3,000
OBa=orE SHA 20l
16,0002 +150H 2,400
2 35244l 42,000 40,500 1,500
O34 2 FX2el 7,000,000 7,000
OS&27X & AFHX 2H1D QX SA2
el (ME, M= 8) 35,000,000& 35,000
401 AlEHIZ 201 40,000 87,000 A47,000
01 AlZH| 40,000 87,000 247,000
Os&2X 2= 40,000,000 40,000
FAAES =20 28 NS+=SHE =8 30,000 30,000
207 AR 30,000 30,000
NIEEEET 30,000 30,000
OFAIAIEL 30 28 NH23AE 4
g 29 30,000,000& 30,000
=g =gl Sl S 475,900 387,292 88,608
= 142,770
Al 333,130
301 EtE N = 475,900 387,292 88,608
= 142,770
Al 333,130
02 NBI2HHSFS(HAAS, NLHE) 475,900 0 475,900
OJIZME +30l BELHY|
50,0002 %1,450+5E 362,500




SA: ABIZXID
M Lol=| =7
Rl ==X eI (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 108,750
Al 253,750
OMaS ol AZ2Es A&
113,400,000 113,400
= 34,020
Al 79,380
CISTEE MBIEEs) 7,260 7,056 204
& 2,178
Al 5,082
307 glztol & 7,260 7,056 204
== 2,178
Al 5,082
1 ABIZXIAEE 7,260 7,056 204
wol=x A2Ea
5,500& 1100 A+ 12002 7,260
= 2,178
Al 5,082
COISiAL & HHE2E 377,736 449,650 AT71,914
201 2= 7,900 8,900 21,000
01 At22t2l] 7,900 8,900 21,000
OLQAIZAY B2 S 22|
1,300,000 1,300
OZ2g 2E/AYE F4==E
100,000 64 600
O3JIEE)| Xz
50,000 *1CH* 122 600
ORHI=2E & M
200,000 394 2 600
OAMEISXIIS4ARS HES
100,000 6 »23] 1,200
O NE JARIRS &+
100,000 3+ 122 3,600
202 04| 500 500
01 =LHO LI 500 500
OLoI=X & HAIRILEZ(8Y)
500,000 500
203 HR=H| 5,000 5,000
03 A= LR F&IH| 5,000 5,000
OARI S A F XS R =AY
5,000,000 5,000
301 LEtE NS 360,000 435,250 AT5,250
02 ARI2HHHS(HAAS, NLHE) 360,000 0 360,000
Ol 20,0003 x1,500F «12& 360,000
307 glztol & 4,336 4,336
02 LB HAHE L 4,336 4,336




SA: AR =X

B2 OI=X|SA
el LIS ENd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Oz=zgsiz usyl 4,3%,0002! 4,3%
wolo] & A 11,000 11,000
307 212401 11,000 11,000
11 ARSI =TI E 11,000 11,000
Okolod HAR S| 11,000,002 11,000
OIHI0IE SALXIS 50,000 50,000 0
201 Yere ] 50,000 50,000
03 #AI2 ] 50,000 50,000
Oolbiole AKX 50,000, 0002 50,000
WESE 3 ol otd Ke 6.640 6.640 0
= 3,320
Al 3,320
301 Yere 6.640 6.640 0
= 3,320
A 3,320
14 JEH2 A2 6,640 6.640 0
OMESE +8 =0l X XI(502)
6.640,0002 6.640
= 3,320
Al 3,320
SH=OI BIHSHE 001 BAl 4,000 4,000 0
201 Yere ) 4,000 4,000
03 #AF2 ] 4,000 4,000
OSAH=QID BHSHE OfB0lL AL
5,000 8002 4,000
Y2Y NASMNEE St 65,400 0 65,400
301 Yere 65,400 0 65,400
14 JIEN2 412 65,400 0 65,400
OF2Y NASAMNEE ESt|
50,0002 1094 4+ 128 65,400
A=g N X 85,020 0 8,020
201 Lere ] 85,020 0 8,020
01 Al 221H| 8,020 0 8,020
OZ2Y LN LXR
65,0008 +1007H 4 128 85,020
B ZeHe 2,242,000 0 2,242,000
Al 642,000
o 1,600,000
401 AIEHIL S CH] 2,242,000 0 2,242,000
Al 642,000
o 1,600,000
01 Al&H 2,202,000 0 2,202,000
OBY Z2HE 2,202,000,0002! 2,202,000




2A:

Y LoI=N|EZ
el LoI=X et (SH &)
SN - B S(BH) - HBAY - BAS 0l &y G o HIRS2
Al 630,546
CH 1,571,454
02 Ze2lgl 35,000 0 35,000
OBLL ZZNE 35,000,000 35,000
Al 10,022
CH 24,978
03 AI&20HHI 5,000 0 5,000
OB Z2dE 5,000,000 5,000
Al 1,432
CH 3,568
I AI & CCTV X 128,920 0 128,920
s 64,460
= 45,122
Al 19,338
402 Q12201 128,920 0 128,920
g 64,460
T 45,122
Al 19,338
02 QI2ZIXIEMLEX(OIXMTHE) 128,920 0 128,920
OFIIQVIIB CCTV XIR(F7HA)
128,920,000& 128,920
rag 64,460
= 45,122
Al 19,338
EES=INEE! 1,142,967 1,115,719 27,248
= 104,134
= 104,848
Al 933,985
HE2E 243 NJ (29 NE)(<Hl) 202,740 206,460 N3, 720
T 20,274
Al 182,466
307 S1Zto| & 202,740 206,460 N3, 720
= 20,274
Al 182,466
11 AISIEXIAIEE X 202,740 206,460 N3,720
OZ2Y 2%l XA
155,000 * 10990 A+ 1200 & 202,740
& 20,274
Al 182,466
HZ2E 45 X2 (RHA) 198,619 195,979 2,640
307 QIZ2t0IA 198,619 195,979 2,640
10 AFSISXIAIEEE2IGHIEX 33,309 31,869 1,440




2A:

X XH -
o=

Ar2l = X 2t

ESSIE-INEFS]

=t 22X (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
R EEE SRR
33,308, 1202 33,309
1 AMEISXAIEEXS 165,310 164,110 1,200
OZag T2 2| X2 (XtHAl)
30,000,000& 30,000
OZ2g FIt 2gHI XA (1009H2)
133,200,002 133,200
oY AXE KA (L)
2,110,000& 2,110
424 R34 369,600 300,960 68,640
=S 36,960
Al 332,640
307 21201 & 369,600 300,960 68,640
< 36,960
Al 332,640
11 AMEISXAEEES 369,600 300,960 68,640
OFzAY 2234
3,500 x400E x22& * 122 369,600
= 36,960
Al 332,640
Z2¢ #4435 XY (=203l XY) 12,000 12,000 0
=S 1,200
Al 10,800
307 @12t01 & 12,000 12,000 0
== 1,200
Al 10,800
11 AMRISXAEEES 12,000 12,000 0
OZ2% Z23d| K&
12,000,000 12,000
= 1,200
Al 10,800
ZE2AGH AR I24H| (&) 53,640 51,120 2,520
= 5,364
Al 48,276
307 @120l & 53,640 51,120 2,520
== 5,364
Al 48,276
11 AMRISXAEEES 53,640 51,120 2,520
OZ2AIG FHA 12AHI(3H)
1,490,000 x3& * 122 53,640
== 5,364
Al 48,276
Z22g #8435 (M3 sSAESHl XId) 98,100 99,900 /1,800
= 9,810
Al 88,290




2A:

Ar2l = X 2t

M Lol=X =X
=t 22X (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 98,100 99,900 21,800
= 9,810
Al 88,290
11 AMEISXAIEEXS 98,100 99,900 1,800
O3 2E A2l SAE S|
75,0002 #1099 A+ 122 98,100
=S 9.810
Al 88,290
F2E dutgdl 2 =4l K& 208,268 229,300 A21,032
= 104,134
= 31,240
Al 72,8%
301 Eet2 NS 208,268 229,300 A21,032
= 104,134
= 31,240
Al 72,894
01 Al EE AT S (2 RNEERA) 208,268 229,300 A21,032
OZ2g dtgdl & 2=l XA (109H2)
208,268,000 208,268
= 104,134
= 31,240
Al 72,894
OIS IEEE 210,100 210,100 0
JZANE &S 210,100 210,100 0
201 et 3| 4,600 4,600 0
02 s3=gHl 4,600 4,600 0
OZzd =3 #al 3,000,000& 3,000
Osllz 422 s&dJ| fRAE=
1,600,000 1,600
401 AlEHIZ 2 0HbI 150,000 150,000
01 Al&H| 150,000 150,000
OZ=¢ &llat At 150,000,000 150,000
405 KHAHF SH] 55,500 55,500
01 TR ESFSHI 55,500 55,500
OZzg =2 7Y (=25 2)
39,500,000& 39,500
O32g Il 7 (14H)
16,000,000 16,000
el SNsd 20,241,529 18,528,641 1,712,888
= 9,473,788
= 600
< 2,185,162
Al 8,581,979
ZoHeI=sX =0XE 13,846,849 13,354,519 492,330




2A:

X ZH -
o=

Ar2l = X 2t

el sXsd

oel: ZofeI=SX 2K (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 9,455,935
= 600
& 911,964
Al 3,478,350
ool A2 20 K= 3,446,741 3,179,714 267,027
= 2,412,719
= 206,804
Al 827,218
301 LEENZ 3,446,741 3,179,714 267,027
= 2,412,719
& 206,804
Al 827,218
01 AISIBEH LGS (2 LEZME) 3,446,741 3,179,714 267,027
OFoHel A2 S0 NS(1,0172)
3,446,741,000& 3,446,741
= 2,412,719
& 206,804
Al 827,218
o= (IIx) XS 694,979 404,188 290,791
= 486,485
T 145,946
Al 62,548
301 LB F 694,979 404,188 290,791
= 486,485
& 145,946
Al 62,548
01 AISIBE X 2GS (2 UETME) 694,979 404,188 290,791
OO (D) X2(987Y)
694,979,000& 694,979
= 486,485
& 145,946
Al 62,548
Ho=H (XA S) X2 347,725 296,824 50,901
= 243,408
& 73,022
Al 31,2%
301 LPENF 347,725 296,824 50,901
= 243,408
& 73,022
Al 31,295
01 A BE X2 (2 REETE) 347,725 296,824 50,901
O ML (XA S)X=(423H)
347,725,000& 347,725
= 243,408




SA: ABIZXID
M Zoje SXNSH
Rl ZOoHI=X =10X= (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 73,022
Al 31,295
Zoje! sXa=0 A 6,894,400 7,728,000 A\833,600
= 4,826,080
< 310,248
Al 1,758,072
307 lztol & 6,894,400 7,728,000 A\833,600
= 4,826,080
== 310,248
Al 1,758,072
11 AMRISXAEEES 6,894,400 7,728,000 A\833,600
OZ0Hel 2SS X (277F)
6.,8%4,400,000& 6,894,400
= 4,826,080
== 310,248
Al 1,758,072
ST BSEX JH=50 52,000 22,800 29,200
= 36,400
s 2,340
Al 13,260
307 @I2t01 & 52,000 22,800 29,200
= 36,400
= 2,340
Al 13,260
11 AMISXAIEEX 52,000 22,800 29,200
OSEX g0 (128)
52,000,000 52,000
= 36,400
= 2,340
Al 13,260
LEHEAMEIA HiH K& 250,000 282,960 A\32,960
= 175,000
= 11,250
Al 63,750
307 gl2to| & 250,000 282,960 A32,960
= 175,000
= 11,250
Al 63,750
1 AMEISXAEEXS 250,000 282,960 A\32,960
OLLMEMEIA HIRH XIH(105Z)
250,000,000 250,000
= 175,000
= 11,250
Al 63,750




2A:

X XH -
o=

Ar2l = X 2t

el sXsd

&2l HOHISX =0X&3 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
LEHQ FHESAHHIA 431,610 0 431,610

= 302,127
== 19,422
Al 110,061
307 212+01& 431,610 0 431,610
= 302,127
=S 19,422
Al 110,061
11 ARRIS XA E X 431,610 0 431,610
OgEe =S AHIA(159)
431,610,000 431,610
= 302,127
= 19,422
Al 110,061
LR LS BSAHHIA 123,315 0 123,315
= 86,321
= 5,549
Al 31,445
307 @120l & 123,315 0 123,315
= 86,321
= 5,549
Al 31,445
1 AMEISXAEEXS 123,315 0 123,315
OLgH Su=asSMEIA(158)
123,315,000 123,315
= 86,321
= 5,549
Al 31,445
22T 24X 5,760 1,920 3,840
= 4,032
= 259
Al 1,469
307 elztol & 5,760 1,920 3,840
= 4,032
< 259
Al 1,469
11 AMEISXAEEES 5,760 1,920 3,840
Oggdiel RagX#(3)
5,760,000& 5,760
= 4,032
< 259
Al 1,469
Zoelel=Hl X 271,863 239,843 32,020
= 217,490




2A:

Ar2l = X 2t

= Zoje sXsd
el OIS X 20X (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
< 38,061
Al 16,312
308 XtXIEMSO0IH 271,863 239,843 32,020
= 217,490
== 38,061
Al 16,312
11 S 2SS & AE AL 271,863 239,843 32,020
OooIo|ZH| X2 (46721)
271,863,000 271,863
= 217,490
== 38,061
Al 16,312
ZOHAEERID] X (RAY) 4,823 3,573 1,250
= 3,858
Al 965
301 LENZ 4,823 3,573 1,250
= 3,858
Al 965
01 Al EE A S (2 REXMA) 4,823 3,573 1,250
OB 2XI|D| X2 (8)
4,823,000& 4,823
= 3,858
Al 965
MASHOHR! JEHl & ZAH X2 1,800 1,280 520
= 900
s 135
Al 765
301 22N = 1,800 1,280 520
= 900
= 135
Al 765
01 Al EE A S (2 RDEEMA) 1,800 1,280 520
ONASHOHQ! ZICtH] o ZAH] X2 (458)
1,800,000& 1,800
= 900
= 135
Al 765
&0 SIS 4,000 5,000 21,000
= 2,800
= 180
Al 1,020
301 LeEN= 4,000 5,000 21,000
= 2,800
= 180




SA SIS
Hm: mojol =2XSA
el ZoHI=EX =0X2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 1,020
01 Al EE A S (2 RDEEMA) 4,000 5,000 21,000
OUEHel SAHHISXI (48)
4,000,000 4,000
= 2,800
= 180
Al 1,020
el SSAUHMLEAHIA AL 1,200 1,200 0
[ 600
Al 600
307 212+01& 1,200 1,200 0
= 600
Al 600
11 MBS XA 2 E 1,200 1,200 0
OFQl STAHLBAIA XA (10Z)
1,200,000 1,200
= 600
Al 600
ZOoRId Kl XI& (SXILXel) 566,911 515,179 51,732
= 283,455
= 42,519
Al 240,937
101 @124H| 566,911 515,179 51,732
= 283,455
== 42,519
Al 240,937
0 JIZtHZ2 S E 566,911 515,179 51,732
(OFS{U RI=DNEIDN %( Nxtel)(843)
566,911,000& 566,911
= 283,455
< 42,519
Al 240,937
o LX 2 K& (L Lt2l) 605,520 547,888 57,632
= 302,760
< 45,414
Al 257,346
101 @124H| 605,520 547,888 57,632
= 302,760
== 45,414
Al 257,346
M ORNZZ2NSE S 605,520 547,888 57,632
OZOHA LRI X2 (et dRtel)(21E)
605,520,000 605,520
= 302,760




SA SIS
Hm: mojol =2XSA
el ZoHI=EX =0X2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 45,414
Al 257,346
oL X2 X2 (AL Rt2]) 144,202 124,150 20,052
= 72,100
< 10,815
Al 61,287
101 @124H| 144,202 124,150 20,052
= 72,100
== 10,815
Al 61,287
M ORNZZ2NSE S 144,202 124,150 20,052
OFOHr LT eI K& (AR Rtel) (10Z)
144,202,000 144,202
= 72,100
== 10,815
Al 61,287
ZOHRI=S X BRI 5,662,243 4,527,073 1,135,170
= 17,853
s 1,102,573
Al 4,541,817
TH ZoH==& 198,000 192,200 5,800
< 99,000
Al 99,000
301 LELE NS 198,000 192,200 5,800
= 99,000
Al 99,000
02 A2 XSG (HAAHS, NLWE) 198,000 0 198,000
O&HI Z0H=+==(4132) 198,000,000 198,000
= 99,000
Al 99,000
Zoie! 2sXE 20 FIXE 740,139 754,627 A14,488
== 370,069
Al 370,070
307 212+01& 740,139 754,627 14,488
[ 370,069
Al 370,070
11 AMEISXIAEEES 740,139 754,627 A 14,488
Ol SSKAS0 FIHKI (220)
740,139,000 740,139
= 370,069
Al 370,070
ZoHe! 2SKE S0 24A12 X 60,420 57,580 2,840
s 18,126




2A:

Ar2l = X 2t

Zal: Fojel ZNSH
&Pl HOHQISK BRI EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 42,29
307 SI2H0IH 60,420 57,580 2,840
< 18,126
Al 42,204
I EEES 60,420 57,580 2,840
OFOHO! SEXAS0 24412+ NA(12)
60,420,002 60,420
= 18,126
Al 42,29
ZHOHQIDFR | 132,000 28,000 4,000
= 66,000
Al 66,000
301 Y BHZ 132,000 28,000 4,000
< 66,000
Al 66,000
2 ASIZHEAFIZ(FAAS, L) 132,000 0 132,000
OFOHQIDIT ket (3572)
132,000, 0002 132,000
= 66,000
Al 66,000
NAS ool o= X2 1,000 7,000 4,000
T 5,500
Al 5,500
301 Y BHZ 11,000 7,000 4,000
< 5,500
Al 5,500
2 A ZHRAFIZ(FHS, L) 11,000 0 11,000
OMASHOHQ! o|=2H| XIR(8)
11,000,000 11,000
= 5,500
Al 5,500
HASHM 2XID| X 9,000 11,000 £2,000
= 3,600
Al 5,400
301 YL BHZ 9,000 1,000 £2,000
= 3,600
Al 5,400
2 ASIZHHAFIS(FHS, L) 9,000 0 9,000
OMASHOL! BXI1J] X2 (6%)
9,000,002 9,000
= 3,600
Al 5,400
LS NENEE! 16,120 14,904 216
= 7,560




2A:

Ar2l = X 2t

M HOel =XSE
Rl ZOHRI=X eI (SH9 H2)
SN - B S(BH) - HBAY - BAS 0l &y G o HIRS2
Al 7,560
307 QIZ2t0I M 15,120 14,904 216
T 7,560
Al 7,560
11 Al SXIAIEE X 15,120 14,904 216
OFHA=XIAIS B2 (2802)
15,120,000 15,120
= 7,560
Al 7,560
g FoHe! JIHA K& 6,000 6,000 0
& 1,800
Al 4,200
301 EEXNZ 6,000 6,000 0
T 1,800
Al 4,200
02 A BEELHS(HSHS, NYMA) 6,000 0 6,000
OLlEHZEOR JIMH X (10H)
6,000,000& 6,000
= 1,800
Al 4,200
I FOe & S& 21,600 9,000 12,600
& 6,480
Al 15,120
301 YEEXZ 21,600 9,000 12,600
= 6,480
Al 15,120
02 AR BEELHS(FHSHS, NYMA) 21,600 0 21,600
Od3JNE ZoHol F2SH(26Y)
21,600,000 21,600
= 6,480
Al 15,120
& LA BRI 2elAt 45,306 49,050 N3,744
& 13,592
Al 31,714
101 2124d| 45,306 49,050 N3,744
& 13,5692
Al 31,714
M4 IIH2E2NSES 45,306 49,050 N3, 744
OOl BXI|D] 22/Al 2H(3H) 45,306
Jl=3 907,320& x3H 122 32,664
= 9,79
Al 22,865
-AIRIEERY S S JIERR2Z|
12,642,000& 12,642




od
i’
oF
uJ

R RN I > > S S
A0 N~ = =3
Klo
—Im
E=)
[l ol Nl (@l Ne) (@] ([e)
g8 g|g|8 g|18|8 g8 2188 g|8|8 8|88
S|o ©|o|o o|lo|m =3K= — |~ < | << — [~
LH3r
L]
RIS
(a0}
B 3I8|8|8 §|8|8 BIE|EI8 EI8|EIE E|E|EI1E E|E|BIE &|BIR|R E|8|8|8 E|§|E|8
™ o|lad|—|[~ — olo|c oS|o|w|© O|lm]|m|m m|lo|o|o s|—[—— — ||| < | —|—|—
al
<
=3
H <
] ol ] = ] ] ] ]
(ep) Al
_g 5 g ) g g g g
or 5% ¢ - 5 g g g g
X0 — ot = > ™ -~ =~ o — <
o) i 3 W = 8 . w5 o
: 5 5| B2 - Z S = <
& o= Z b
= o o B E NI i
— (] Rl = . - [ AL
W Bl g RS ~ L A I L s )
- 70 = or Wg|K R = % Somo|dF il Ok [0
jady ) Ilw.ﬂ_: il o o0 OlJ A_l A._o —
= 2 2 lal [E2ER | w Z | 2 5] |E@ EiRE
I ~ N = O -— K - ™
m mm 0 m |x| |@ %o ) 5 o g m g | ~ A S B
o il Kir my |=| |[® ) =|K or K| = S LR I I = s u =
o w0 ~ I == O T 0 L I - O = I = VR 1 O ETE i Y] oo D
5 iz o MR = Mﬂ:gmﬁxolﬁfmna% 20 Wo |l o |R|T|(s © sz R |a|z|s
. Wrjzo(s S &S I - e ol T 1 el O B T O =l v V()0 O R 0
= ~ ({0 KOz H|H|H oD |||k & |&)|S|ck oW W H R (|| o [S|E|n o |||
=0 3l |3 KO e < Bl |w|ole S5 w|2|2 3 |s|dW @ |als|e ¥ |ja|lzjot S (k|0 S (2|20
' = |oll %0 KO |on|®0 & ol |2 Ryl |R|R R |@|alfer o [S|al|< & |w|ol|=< R |pr|ov|A0 RO [K0)an|=<
mom%O mHO m_m%O @%mo uawmo mom@Q m_mmo o|l=ln O Jis|s
X Ko | & ™ .ru0n3 EARS HO | & 0| & S| N uOnmo ﬂomo
il g Klo K0 R0 3l 1) K0 ) Rr




2A:

X XH -
o=

Ar2l = X 2t

el sXsd

el ZOI=X &REXIE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONEL HOfel oIADfA wx 2AH X &
=SHAIZ 1,000,000 1,000
OHAEDIAHFAIE 2S 443,104 248,821 194,283
= 44,310
Al 398,794
307 @12t0| & 443,104 248,821 194,283
== 44,310
Al 398,794
10 Al2ISTIAIEEE 22X 443,104 248,821 194,283
OZMAEIIHF=AIE 24 443,104
-0l 21H((8Y) 404,955,000 404,955
= 44,310
Al 360,645
-=2&H| 38, 149,000 38,149
O HF=AIE JISEH 35,706 0 35,706
= 17,853
= 12,497
Al 5,356
401 AlEHIZ S 0HbI 35,706 0 35,706
= 17,853
= 12,497
Al 5,3%
01 A&l 35,706 0 35,706
OSII2SHE B N2+ DA
35,706,000 35,706
= 17,853
= 12,497
Al 5,3%
ZoHeI3csEE =23 X2 90,750 86,760 3,990
= 27,225
Al 63,525
307 @I2t0| & 90,750 86,760 3,990
== 27,225
Al 63,525
10 AlRISTIAEEE 22X 90,750 86,760 3,990
OZ0fel3esaH =24 90,750
-0l 21H[(2Y) 81,750,000 81,750
= 27,225
Al 54,525
-=gbl 9,000,000 9,000
ZOHRIHF=AIE 28 XA (68) 78,688 20,400 58,288
< 7,869
Al 70,819




SA SIS
Hu: mojel =XSA
CHol: FOjOI=X LK (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 31,800 16,800 15,000
= 3,180
Al 28,620
03 A2 E A0 Z2 (XL THH) 31,800 0 31,800
OB FAIL S2TLHLTIA(6Z)(13
) 31,800,000& 31,800
=S 3,180
Al 28,620
307 212+01& 46,888 3,600 43,288
< 4,689
Al 42,199
10 Al SXAEEHE2EHI 22X 46,888 3,600 43,288
OZOHANFAIL 2SR (65)
46,888,000& 46,888
= 4,689
Al 42,199
ZOHRIHFAIE AT X (48) 4,105 3,695 410
== 1,232
Al 2,873
307 212+01& 4,105 3,695 410
< 1,232
Al 2,873
11 AMEISXAEEES 4,106 3,69% 410
OFOHLINHFAIE LAXXIA(4E)(10Y)
4,105,000& 4,105
= 1,232
Al 2,873
gojelsxa =249 1,476,507 1,403,016 73,491
s 70,000
Al 1,406,507
307 @I2t01 & 1,476,507 1,403,016 73,491
[ 70,000
Al 1,406,507
05 2IZtAE = 1,476,507 1,403,016 73,491
Oel=A2 24 1,341,592
-1 21H[(25) 1,184,778,000& 1,184,778
= 70,000
Al 1,114,778
-2gtl 156,814,000 156,814
OZHA=X2t ALY 2
134,915,000 134,915
ZojelsX2 etFHe 468,500 0 468,500
401 AlZHIZ S0 468,500 468,500
01 Al&H| 468,500 468,500




SA: AR =X

= Zoje sXsd

Rl ZOHRI=X eI (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OYWLeI| wHl(400H) 434,000,000 434,000
OAZE 22 X0E WHI(2040H)
13,500,000& 13,500
028 Eel0IHIE B 21,000,000 21,000
HOHCIF2IESAIE 29 487,161 261,370 225,791
= 48,716
Al 438,445
307 212+01 A 487,161 261,370 225,791
& 48,716
Al 438,445
10 Al =S XA EBEER2IHIE X 487,161 261,370 225,791
OFeIF2tES AL 2Z 487,161
-0124H](8Y) 443,457 ,000& 443,457
T 48,716
Al 34,741
294l 43,704,000 43,704
ZOHQIFAESAIL Xt AXz K 9,400 0 9,400
307 212+01 ™ 9,400 0 9,400
10 Al =S XA EEHE2IHIE X 9,400 0 9,400
OTOIFAUESAIE Xt AXS(SER
cH) 9,400,000& 9,400
ZOHCITHII=XIAIE 2 KA (28) 14,200 14,200 0
& 1,420
Al 12,780
307 QIZt01 A 14,200 14,200 0
= 1,420
Al 12,780
10 AISISXAEHE2ZHIER 14,200 14,200 0
OIS I2, ZOHUFUAEBSAIE 2D
225) 14,200,000 14,200
& 1,420
Al 12,780
ZOHCITHOIES XA Y BALA SE+22Y 54,600 52,800 1,800
T 5,460
Al 49,140
301 LetENZ 54,600 52,800 1,800
= 5,460
Al 49,140
03 A3 2 & 262 (XY THA) 54,600 0 54,600
ZOeI=X2, HOQIF2HE S AIAE SALA
SE+2R2E2(3BH) 54,600,000 54,600
& 5,460
Al 49,140
=HEGHEH 22 254,520 204,520 50,000




2A:

E M

X=]

Ar2l = X 2t

Dol ZXSX

D HOHQI=A LEHX A

SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 25,452
Al 229,068
307 212+01 A 254,520 204,520 50,000
& 25,452
Al 229,068
10 Al =S XA EBEER2IHIE X 254,520 204,520 50,000
Ox=HEYHEH 29 254,520,000& 254,520
& 25,452
Al 229,068
ZOoHe!l MEQ|SKIZME 29 144,480 139,290 5,190
= 14,448
Al 130,032
307 QIZ2t01 A 144,480 139,290 5,190
= 14,448
Al 130,032
10 AISIS XA EEE2IHIE R 144,480 139,290 5,190
OO MEO|ISKIAEEH 2
144,480,000& 144,480
& 14,448
Al 130,032
ORI RIS AL THEIAIE SALAL S222Y K& 12,600 11,400 1,200
T 1,260
Al 11,340
301 LetEHZ 12,600 11,400 1,200
= 1,260
Al 11,340
03 AlZ| 2 &6 2 (XY THA) 12,600 0 12,600
OMEOISHEH, =0HSIHEH SAA E=
D22 (8H) 12,600,000& 12,600
& 1,260
Al 11,340
HOHCISXIAIE SAEL MM 36,000 27,000 9,000
& 36,000
301 LPBENZ 36,000 27,000 9,000
& 36,000
03 A B & A 262(RIZ M) 36,000 0 36,000
OFOIHFTAIA, HOHAXSASITHEAIA
SAX M RIH&HI(60H ) 36,000,000 36,000
& 36,000
HOHQIMHTHEAIE 29 XA(7TS) 69,489 62,250 7,239
= 6,949
Al 62,540
301 LPENZ 13,200 12,300 900




SA: ABIZXID
= Zoje sXsd
&Pl HOHQISK BRI (SH &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
< 1,320
Al 11,880
03 AR 2EHFS(XLHE) 13,200 0 13,200
ONAEAEBAR SED24LRA(7E
)(9€) 13,200,000& 13,200
= 1,320
Al 11,880
307 @120l & 56,289 49,950 6,339
== 5,629
Al 50,660
10 Al SXAIZEHE 22X 56,289 49,950 6,339
OBMAZATEAL 2% X2 (7E)
56,289,000 56,289
= 5,629
Al 50,660
ZONQIZATHEIAIAE AAX XIR(4B) 7,296 7,296 0
S 2,189
Al 5,107
307 @120l & 7,29 7,296 0
S 2,189
Al 5,107
11 NS =AY S E 7.2% 7,2% 0
OFHARHTHEAIL AT XIR(45)(32F)
7,296,000 7,296
< 2,189
Al 5,107
ORI ABHEAIE SALAL XN EHI 5,400 4,800 600
= 5,400
301 LELE NS 5,400 4,800 600
== 5,400
03 A2 E A0S (XL THH) 5,400 0 5,400
OZAXBHEAIE SAEL XM2IHEH] K
2(9%) 5,400,000& 5,400
< 5,400
ZOHRISXIAIE MEZZO K& 9,100 10,890 A1,790
S 2,730
Al 6,370
307 @I2t01 & 9,100 10,890 A1,790
& 2,730
Al 6,370
11 ARRIZXAIE E 9,100 10,890 A1,790
OZOHASKIAIE THEEZ2 8 IR (29024 )
9,100,000& 9,100
= 2,730




2A:

Ar2l = X 2t

M Zoje SXNSH
Rl ZOHRI=X eI (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 6,370
Al ZO0HAEAIE JDI=XI3dEH 29 75,000 75,000 0
== 22,500
Al 52,500
307 212+01& 75,000 75,000 0
< 22,500
Al 52,500
10 Al2IS XA EEE 22X 75,000 75,000 0
OZOHAEHAAIE J=XRHEH 2 (1HA)
75,000,000& 75,000
= 22,500
Al 52,500
Az B2AIE X AE d=ZA 28,225 0 28,225
== 8,467
Al 19,758
307 212+01& 28,225 0 28,225
== 8,467
Al 19,758
11 AMEISXAEEE 28,225 0 28,225
OBONQ!I BHOIAIE X AE| &2ZAHEE0N
) 28,224,008 28,225
= 8,467
Al 19,758
ZOHR! BEOAE HEXZANRE 23 28,573 28,283 290
== 8,572
Al 20,001
307 212+01& 28,573 28,283 290
[ 8,572
Al 20,001
10 Al2ISTIAIEEE 22X 28,573 28,283 290
ZOHQ! HOAM EEXIARY 2H(1E, 1
) 28,573,000& 28,573
= 8,572
Al 20,001
ZOHAIX S HEHE K 202,400 202,400 0
s 102,400
Al 100,000
301 EtE NS 2,400 2,400 0
& 2,400
03 A2 E A0S (XILTHH) 2,400 0 2,400
OO ANEHEHEH SAL XISl X
2 (4g) 2,400,000 2,400
s 2,400
307 el2tol & 200,000 200,000 0




SA SIS
M Zoje SXNSH
s o= e (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 100,000
Al 100,000
03 2IIHHEHE2SHIEX 200,000 200,000 0
OZOHAU Kt MEHE] X2 (1HA)
200,000,000 200,000
= 100,000
Al 100,000
oA 2g 25,000 138,000 A113,000
401 Al HIZ R 0HbI 25,000 138,000 113,000
01 AlZ8| 25,000 138,000 A113,000
OZHAH S MRA & HE RAES
20,000,000 20,000
ORMI3E A= ot EH 9
5,000,000& 5,000
ARISRIAIE 2o 126,500 0 126,500
= 55,750
Al 70,750
401 AlZHIZ SO 126,500 0 126,500
== 55,750
Al 70,750
01 Al&HI 126,500 0 126,500
OLoI=X2 S8 Ya BA
40,000,000 40,000
= 20,000
Al 20,000
OZ2Y &y & 858 54 SA
31,500,000 31,500
=S 16,750
Al 15,750
OSSR 2 S4 24 SA
55,000,000 55,000
= 20,000
Al 35,000
ZOHRIF=XE e WEHE 2AcIANAY 2 6,320 4,320 2,000
201 er23y| 6,320 4,320 2,000
02 S3=gHl 6,320 4,320 2,000
OAAE RXI24H] 360,000 * 122 4,320
OXMAIL AI2I=& SUHA JISHEH
2,000,000& 2,000
Jofel=sXEgs A 20,545 20,19% 350
201 er23 | 19,945 19,8% 50
01 At2teltl 18,945 18,3% 550
OHHALL A BE /AR =&
150,000& %10 1,500




SA: AR =X

= Zoje sXsd

el ZOI=X &REXIE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHUMA=SAAIE =51 SR &
A =g 100,000& x5 *13] 500
OO0 XSt EA 1, 112 *4000H 445
OZONQAU=XFARALE AT =4 2| 2RAS]
g4 =g 100,000 68 * 123 7,200
TOHQEENY SBNHMAS S &
A =g 100,000 x7 & %123 8,400
OBORISRIAAS] Blo EAY
100,000 9 900
02 S3=gHl 1,000 1,500 A500
OZMHAESEHT 55| RA2e
1,000,000 1,000
202 04l 600 300 300
01 SLHoIH 600 300 300
Ol gRFT(74) 600,000 600
Z0Helel & AL 12,000 12,000 0
307 el2to| & 12,000 12,000
1 AMEISXAIEEXS 12,000 12,000
ORI & &AL 12,000,000 12,000
ZOHRIEHH Sl gdst A 24,977 2,860 22,117
307 @I2t01 & 24,977 2,860 22,117
03 LAHHNEHE2SHIEX 23,977 1,860 22,117
OZHAHMESASS 2dst N
1,860,000 1,860
OFMHIHHMEAE S AR XIA(1Y, 11
He) 22,117,000& 22,117
1 AMISXAIEEXS 1,000 1,000 0
O OHIHAL B4 Xt K&
1,000,000& 1,000
AH & SSZOHQ! HEALY 60,534 32,842 27,692
307 212+01& 60,534 32,842 27,692
03 LM EE2SHIEX 57,124 29,432 27,692
OZOHRI0ISKIY SHA 2S(XIHEOHL!
OlSEx & THEAL S) 35,007
ekl 26,138,000& 26,138
-=2&H| 8,869,000 8,869
OXMEAE3 ArRe X218, 110HE)
22,117,000 22,117
11 AMEISXAEEES 3,410 3,410 0
OZJI= =Hetg, NAZHAMFH
g4 X 3,410,000& 3,410
WSHOHC! THE A 10,760 8,950 1,810
307 @20l & 10,760 8,950 1,810

03 BIHHNEE 2 SHI2x 4,870 4,470 400




SA: AR =X

= Zoje sXsd

Rl ZOHRI=X eI (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OuSHMH HEAE 28 S
4,870,000& 4,870
1 AMEISXAIEEXS 5,890 4,480 1,410
OuSHMHL! WSHHQ HALZAME S
5,890,000& 5,890
AZIEOH! THE AN 39,798 34,452 5,346
307 212+01& 39,798 34,452 5,346
03 M EHE2SHIEX 29,298 24,952 4,346
OAIZZ I nsd & 22015 Xt
29 29,298
ekl 26,138,000& 26,138
-=2&H| 3,160,000 3,160
11 ARRIS XA E X 10,500 9,500 1,000
OAlIZ e BXtu=, E3HE S
10,500,000 10,500
2 ANZONQ THEALY 10,000 9,000 1,000
307 lztol & 10,000 9,000 1,000
11 AMEISXAEEE 10,000 9,000 1,000
OF2 - AN ARGt NS, w4

10,000,000 10,000
O =X THEALS 4,160 3,800 360
307 212+01™ 4,160 3,800 360
03 BIHNEE 2 SHI2x 2,360 2,000 360
OEMI=X2 HEAMS 24
2,360,000 2,360
11 ARIZXAIE 2= 1,800 1,800 0
OFeI=sXzl AUEHENSE S
1,800,000& 1,800
N2 8435 XA 2,458 2,000 458
307 212+01™ 2,458 2,000 458
03 QIHHHNEHE 2 SHI2x 2,458 2,000 458
OHOURIAN THEAY 2SS
2,458,000 2,458
O MEgws € ME 6,802 7,280 NAT8
307 212t01& 6,802 7,280 NAT78
11 ARIEXAIEEE 6,802 7,280 N4T8
O ERQEZ0H, AL &
6,802,000& 6,802
SO X P M E X2 732,437 647,049 85,388
< 170,625
Al 561,812
I A HTHEANE 2 468,823 459,933 8,890
< 46,882

Al 421,941




SA SIS
Hm: Fojol =2NSA
(= SV RelESes P DN R (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 468,823 459,933 8,890
= 46,882
Al 421,941
10 Al SXAAEEHE2EHI2x 468,823 459,933 8,890
O A XNATHEAIL 2 468,823
-QIAHI(7Y) 405,056,000 405,056
== 46,882
Al 368,174
-2&H| 63,767,000& 63,767
JOHAABHEAIL SBEL I+ 40,320 0 40,320
= 12,096
Al 28,224
307 elzto| & 40,320 0 40,320
S 12,096
Al 28,224
11 AMISXAIEEX 40,320 0 40,320
OFHATATHEAIL ZRAZOHO! J]5] 22
219) 40,320,000 40,320
[ 12,096
Al 28,224
Zojel stsd=0l 249 223,294 187,116 36,178
= 111,647
Al 111,647
307 el2tol & 223,294 187,116 36,178
= 111,647
Al 111,647
11 AMEISXAEEXS 223,294 187,116 36,178
OZ0HR! ASEHEL0| 22 (34Y)
223,294,000 223,294
< 111,647
Al 111,647
ors=Xsd 3,014,722 2,270,158 744,564
= 297,635
s 850,320
== 781,229
Al 1,085,538
Ots=X =10X2 2,358,870 1,711,071 647,799
= 297,635
[ 850,320
== 556,125
Al 654,790
FAHE OlSSEAHIA X 178,930 176,450 2,480
= 143,145




FA ARSI
U OIS=HAS
[ O == N = NN (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 10,735
Al 25,050
201 er23| 28,750 36,550 A7,800
= 23,000
== 1,725
Al 4,025
01 Al 22IH| 22,200 28,000 5,800
OCRIAEIEHE 2% J/=2H|
10,000,000& 10,000
= 8,000
== 600
Al 1,400
OCRIAEE 2222 79
10,000,000& 10,000
= 8,000
S 600
Al 1,400
OSYAEIE 2201 B4DSY|
400,000& ~4H 1,600
= 1,280
[ %6
Al 224
OAHHIZ & Bl Ealng
150,000 1 *43] 600
= 480
< 36
Al 84
2 s5=34l 5,050 6,050 21,000
OEEAEENE AMERIIES
500,000 500
= 400
= 30
Al 70
Ossiteg A2+ 3,000,000 3,000
= 2,400
== 180
Al 420
OSEAEIE FAAAR(e-C2) ST
=57 1,550,0002 1,550
= 1,240
= 93
Al 2177
03 A= SHI 1,500 2,500 21,000
OSEAERE 238 T2 &18(23)
1,000,000 1,000




SA: ABI=XID
R =te NS,
[ O == N = NN (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 800
=S 60
Al 140
ORZus M= 250,000& *22 500
= 400
S 30
Al 70
202 04| 1,000 1,000 0
= 800
S 60
Al 140
01 =LKL 1,000 1,000 0
OFAIE OISEBHHIA 27 (BLE)
1,000,000& 1,000
= 800
S 60
Al 140
301 22N = 149,180 138,900 10,280
= 119,345
= 8,950
Al 20,885
01 Al EE A S (2 RDEXMA) 146,180 133,900 12,280
OSEAEE AEE Z203(240H)
146,180,000 146,180
= 116,945
= 8,770
Al 20,465
11 EAAHIXIES 3,000 5,000 22,000
OCEAHE 23dE Z208 Jg(23])
3,000,000& 3,000
= 2,400
= 180
Al 420
Ots= X AL XI& 221,123 146,625 74,498
= 108,970
= 54,489
Al 57,664
101 e124d| 221,123 146,625 74,498
= 108,970
= 54,489
Al 57,664
04 JIZtNZ22XNSE+ 221,123 146,625 74,498
OO0tS=E X WAHI1H) 221,123




SA: ABI=XID
M Ot==X3d
&t OtE=A 20X (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
-2
(1,260,000 x4 *11& )+(1,260,000& 7 H+6 2
) 108,360
= 54,180
= 27,090
Al 27,090
-AXRESsIt =€
48,1003« 11«63 3,175
-J|Et2gH| S 109,588,000& 109,588
= 54,790
& 27,39
Al 27,39
XSOotsHE 2g8l K& (2S) 236,640 1,177,200 A940,560
= 118,320
& 59,160
Al 59,160
307 212+01 A 236,640 1,174,534 A937,894
= 118,320
= 59,160
Al 59,160
10 AISISXAIEHE2ZHIER 236,640 1,174,534 A937,8%4
OXldotsHdH Jlgedsl K&
234,240,000& 234,240
= 117,120
= 58,560
Al 58,560
OXY0ISHEH Fot2g8l XIJ(CHE, 1K
) 2,400,000& 2,400
= 1,200
= 600
Al 600
K& 0otsHE olHd] X (2S/XS) 1,162,000 0 1,162,000
= 581,000
= 290,500
Al 290,500
307 212+01 A 1,162,000 0 1,162,000
iy 581,000
& 290,500
Al 290,500
10 AIEISXAIEHE2ZHIEX 1,162,000 0 1,162,000
OXl0otsHE 1248l XA (ZS/XE)
1,162,000,000& 1,162,000
iy 581,000
T 290,500
Al 290,500




2A:

X XH -
o=

[ O == N = NN (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
XIHotsSHE! el2dd] =0 X (XHMI/XI&) 173,437 0 173,437

= 52,031
Al 121,406
307 el2to| & 173,437 0 173,437
= 52,031
Al 121,406
10 AlISAAZEE 22X 173,437 0 173,437
OXIH0tsHlE 1Al FIOXIR (RHAI/XIZ)
173,437,000 173,437
== 52,031
Al 121,406
S48 XN0tsSHE FIHIS 41,040 43,200 A2,160
= 20,520
== 10,260
Al 10,260
307 212+01& 41,040 43,200 A2,160
= 20,520
= 10,260
Al 10,260
10 Al SXAZEE 22X 41,040 43,200 2,160
OS=+==8d XNY0ts4dH It A
620,000 x50 2% 123 37,200
= 18,600
= 9,300
Al 9,300
O&ER2Y XNI0tsHE =t K&
320,000 x 104 2% 123 3,840
= 1,920
=S 960
Al 960
NS 0tSHE 2ZHe X3 50,000 10,000 40,000
= 25,000
S 12,500
Al 12,500
307 @120l & 50,000 10,000 40,000
= 25,000
= 12,500
Al 12,500
10 AlISXAZEHE 22X 50,000 10,000 40,000
OXIotsHE SZIHadl XIS (&el)
30,000,000 *1IH 2 30,000
= 15,000
= 7,500
Al 7,500




2A:

X XH -
o=

[ O == N = NN (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OXI0ISHE 2HZIHAEl XA 1)
10,000,000 x2JH 2~ 20,000
= 10,000
= 5,000
Al 5,000
CleN=s4dEe &XI8l XI& 140,000 70,000 70,000
= 90,000
= 25,000
Al 25,000
401 AIEHIZL 201 100,000 50,000 50,000
iy 50,000
T 25,000
Al 25,000
01 AlEHI 100,000 50,000 50,000
otrstss4dE el (1I04)
100,000,000& 100,000
ax 50,000
T 25,000
Al 25,000
405 RHaHE=H| 40,000 20,000 20,000
iy 40,000
01 AL =EFSHI 40,000 20,000 20,000
otristHssdH JIXNME(E+=28 M)
40,000,000 40,000
= 40,000
CIet=sdIE 21248 XI& 106,000 71,6%6 34,304
= 53,000
& 26,500
Al 26,500
307 212+01 A 106,000 71,69 34,304
= 53,000
= 26,500
Al 26,500
05 CIZtRIErZ 106,000 71,6%6 34,304
OUtetHEsHE 12| XI& (244 )
106,000,000& 106,000
= 53,000
= 26,500
Al 26,500
CretHNESE4IE 1Al =JF XI&(Z/Al) 28,000 0 28,000
& 8,400
Al 19,600
307 212+01™ 28,000 0 28,000
& 8,400




2A:

X XH -
o=

[ O == N = NN (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 19,600
05 212t =S 28,000 0 28,000
OUEMESSHE QIAd] It X2 (20H2)
28,000,000& 28,000
== 8,400
Al 19,600
CietlSsdE 22d X2 16,000 4,800 11,200
= 8,000
== 4,000
Al 4,000
307 212+01& 16,000 4,800 11,200
= 8,000
= 4,000
Al 4,000
05 glt?(& = 16,000 4,800 11,200
OUEN=ssS4E 23! XI&(20HA)
16,000,000 16,000
= 8,000
= 4,000
Al 4,000
CIEtHSSHE SAL S22+ 4,500 3,000 1,500
[ 1,350
Al 3,180
301 2EN= 4,500 3,000 1,500
= 1,350
Al 3,180
03 ALl 2 & A 263 (XL E) 4,500 0 4,500
OUENSSHE SAL SE+2242(3Y)
375,000 x 122 4,500
= 1,350
Al 3,150
CHEINESSHE SALL MM 1,200 600 600
< 1,200
301 EtE N = 1,200 600 600
= 1,200
03 AR 2H A5 S(XILH) 1,200 0 1,200
OUENSSHE SAK MIHEH(2Y)
50,0002 =2 * 122 1,200
= 1,200
Ots=X &8t 655,852 569,087 96,765
& 225,104
Al 430,748
NSOotSHE S=SwAb X2 216,540 205,200 11,340
= 108,270




2A:
PSR
ool

N=I=PNI

(UE==INEFS]
Ols= X LEHXIE

L=

Jy

SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 108,270
307 gl2tol & 216,540 205,200 11,340
=S 108,270
Al 108,270
11 ARRIS XA E X 216,540 205,200 11,340
OXSotsHE! SSmAH XI#(158)
216,540,000 216,540
< 108,270
Al 108,270
NSotSHE SOI1R8E wsSA X2 57,600 46,080 11,520
= 28,800
Al 28,800
307 @20l & 57,600 46,080 11,520
=S 28,800
Al 28,800
11 AMISXAIEEX 57,600 46,080 11,520
OXlgotsHly S8 WSsZA X2 (48)
1,200,000 x4 * 122 57,600
< 28,800
Al 28,800
NS0tsHE S+22+d X2 55,800 53,400 2,400
= 27,900
Al 27,900
301 eEtE N = 55,800 53,400 2,400
S 27,900
Al 27,900
03 A2 H AT S (XL THH) 55,800 0 55,800
OXIHOISHIEl BAKF S4+224(36Y)
55,800,000 55,800
[ 27,900
Al 27,900
OtS=XIWAL X1 (RHAI) 1,200 1,200 0
201 Ler23| 1,200 1,200
01 AfR22lH| 1,200 1,200
OOIS=XRAF HE HESIR AL 25
200,000 x32H*23] 1,200
NS 0ISHE 28l =0t K& 130,570 123,000 7,570
307 212+01& 130,570 123,000 7,570
10 Al SXAEEE 22X 130,570 123,000 7,570
OWLrgty| K| (15744) 13,750,00024 13,750
o2l £t XA (15IH4)
116,820,000 116,820
JHSE NH0ISHE X2 38,856 30,948 7,908
= 19,428




N=I=PNI

L=

Jy

o ols=Nsd

Ols= X LEHXIE

SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 19,428
307 212+01™ 38,856 30,948 7,908
T 19,428
Al 19,428
10 Al = XA EHE2FHIE X 38,856 30,948 7,908
OFMNSE XIE0tSHIE (102 )
38,856,000 38,856
= 19,428
Al 19,428
XNE0tsdly 2HE3 K& 4,000 4,000 0
307 212+01™ 4,000 4,000
11 Al =S XA E 4,000 4,000
OXISiotsHIE £HE3| X2 (12])
4,000,000& 4,000
NE0tsdlEH SASAHA 2148 XI& 36,000 33,600 2,400
307 2I2+0l™ 36,000 33,600 2,400
10 AIEISXAIEHE2ZHIEX 36,000 33,600 2,400
OX<G0tSHEH SASALA 2124d] X
36,000,000 36,000
XSE0tsHE MEgasgl 19,450 19,450 0
& 5,835
Al 13,615
307 212+01™ 19,450 19,450 0
& 5,835
Al 13,615
11 Al =SXAIEE 19,450 19,450 0
OXISOISHIE HEBESH X2
50,000 *389F * 13| 19,450
= 5,835
Al 13,615
XNSE0tsHlEe A2 E AdlA 5,020 4,829 191
& 1,506
Al 3,514
201 B2 AY| 5,020 4,829 191
& 1,506
Al 3,514
2 SE=29| 5,020 4,829 191
OX0ISHE SAAZAIAE X2 (160HL)
5,020,000& 5,020
T 1,506
Al 3,514
KSO0tSHE SALA HIHALI 21,600 21,600 0
& 21,600
301 LEtENZ 21,600 21,600 0




2A:

X XH -
o=

N=I=PNI

ors=EXsd

1

J

c?l: OlS=A e (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 21,600
CEEEERSETGETEY 21,600 0 21,600
OXIGOISHE SAR HLH&YI XIS (36
) 50,0002 x36Z* 122 21,600
= 21,600
XISOFSMIE| X|ojer) ZT208 29 30,000 30,000
307 BI2H0IH 30,000 30,000
N ERNEEEEETIEES 30,000 30,000
OXISGOISME T2 Chst X
30,000, 0008 30,000
OISSE SMAHIA X (0lSSE T2I) 4,800 2,400 2,400
= 1,440
Al 3,360
307 2I240IH 4,800 2,400 2,400
< 1,440
Al 3,360
05 SI2RIErS 4,800 2,400 2,400
OO0lSEE SMAHIA T2 X2 (2H4)
200,00021%20 2+ 122 4,800
< 1,440
Al 3,360
OISEE SMAHIA NS (GENSSUEH S50) 34,416 13,380 21,03
= 10,325
Al 24,001
307 I240IH 34,416 13,380 21,03
< 10,325
Al 24,091
05 212t 3 34,416 13,380 21,03
OOISEE SMALIA S22 XIR(2H4)
1,434,002 422 1224 34,416
< 10,325
Al 24,001
Sl OS2 A 10,276,530 11,181,502 A904,972
2 4,140,019
2 8,000
] 50,320
= 1,746,342
Al 4,331,849
OIE=DIB &5 70,940 69,740 1,200
OlE=XYH £ 17,700 16,500 1,200
201 2B | 4,500 3,300 1,200
01 AR 22l 4,500 3,300 1,200
OOISEXIAARINS BHLT
100, 00024+1124+23] 2,200




SA: AR =X

M U OIS=EX A
s OlsS=ADIE &3 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O0tsSZARIAS| &M
100,000+ 9% x23| 1,800
OSERI0IS0IE HIIANLTA =42
250,000 *20H 500
202 0it| 600 600
01 20t 600 600
OOISAIZEZ L Ots 2 AR
600,000 600
307 2120l 12,600 12,600
11 A XA 2R 12,600 12,600
OAIE0LS 0210l AN &IF XI)(20H4)
20,0002 +75% 1,500
OAlE0rs XSzl &IF X (2HA)
20,0002 *75% 1,500
OAE0IE Alelag 2 X2 X
80,0002 12103 9,600
012101 =01 AlE RX 24 15,240 15,240 0
201 LEHRAY| 7,240 5,240 2,000
o S22l 7,240 5,240 2,000
OSE02I0I=0IE 22 7,240
-SE020Is0E ®IIQB(EeH=01H)
20,0002 * 10§ A+ 122 240
-SE0RI0I=0IH 25 & |X2e]
7,000,0002 7,000
401 Al HI L2 OHY] 8,000 10,000 A2,000
01 Al&H 8,000 10,000 2,000
OSE02I0I=0IE HE2=(5IHL)
8,000,0002! 8,000
012101 SA 38,000 38,000
307 212t0| 38,000 38,000
11 A EXIAIE 2R 38,000 38,000
OO0f2I0IY SA 38,000,000 38,000
olso AFFY 4,928,614 5,877,669 A949,055
= 3,825,175
= 499,200
Al 604,239
MHZ0I (OIS SXIAIA) 230,000 220,000 10,000
= 207,000
= 16,100
Al 6,900
307 2I2tol ™ 230,000 220,000 10,000
= 207,000
= 16,100
Al 6,900
11 A XA 2R 230,000 220,000 10,000




2A:

X ZH -
o=

Ar2l = X 2t

A= Ots=X A

el Olsel AEFY (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
OMASH (OtSL=AIE 2HA)
230,000,000& 230,000
= 207,000
[ 16,100
Al 6,900
ots=g XI& 4,384,257 4,776,421 A3, 164
= 3,507,406
[ 394,583
Al 482,268
301 LEIE NS 4,384,257 4,776,421 A392,164
= 3,507,406
s 394,583
Al 482,268
01 Al 2E AL S(FREXM) 4,384,257 4,776,421 A3, 164
Oo0ts==2 X (3672%) 4,384,257,000& 4,384,257
= 3,507,406
= 394,583
Al 482,268
RES0S NHEXI (AL SOtS KHERIH) 10,710 10,710 0
= 7,497
= 482
Al 2,731
307 @120l & 10,710 10,710 0
= 7,497
= 482
Al 2,731
11 ARIS XA 2 X 10,710 10,710 0
OAE A BHEHXNSO0IS SABl & Atel
2teldl X1 (6E) 10,710,000 10,710
= 7,497
= 482
Al 2,731
YAUA0ts 234 K& ALY 12,000 12,000 0
= 8,400
= 540
Al 3,060
301 LtENZ 12,000 12,000 0
= 8,400
== 540
Al 3,060
01 Al EEATZ(2REZME) 12,000 12,000 0
OggUaots LAIREESHI
1,000,000 x1&* 12 12,000
= 8,400




2A:
X XH -
o e

=aak

N
SYUAE OIS AE
EEFSEY

e

SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 540
Al 3,060
SttHulchotsa s A 237,182 114,778 122,404
= 94,872
< 71,185
Al 71,155
307 lztol & 237,182 114,778 122,404
= 94,872
== 71,155
Al 71,155
10 Al2ISTIAIEEE2HIE X 237,182 114,778 122,404
OSHTIBHOISRIE 2 (1H24)
237,182,000 237,182
= 94,872
== 71,155
Al 71,155
StHIISHOtS&EE 2l F=0F XIJA(=Hl) 13,220 13,220 0
= 3,966
Al 9,254
307 elztol & 13,220 0 13,220
= 3,966
Al 9,254
1 AMEISXAEEXS 13,220 0 13,220
Osttiulaiorsa el 298I =t X (1H2)
13,220,000 13,220
s 3,966
Al 9,24
SHHIISHOtS&E | 2124H] =Dt XI&(=Hl) 41,245 0 41,245
S 12,374
Al 28,871
307 glztol & 41,245 0 41,245
= 12,374
Al 28,871
10 Al SXAAEEHE 22X 41,245 0 41,245
OSIUImIahotSEE 248l b I (1042)
41,245,000 41,245
=S 12,374
Al 28,871
JIE Ots=A 4,547,300 4,556,612 29,312
= 40,806
=S 1,195,585
Al 3,310,909
ZAIOtS S A XA (REM/ K1) 1,398,800 1,387,260 11,540
== 419,640




FA SIS
mu: 5|oQls Ols =K AH
celr 201E Ots=A EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 979,160
301 EtE NS 564,800 560,700 A5,900
=S 166,440
Al 388,360
02 ANRI2HHFS(HAAS, NLHE) 564,800 0 554,800
OZAIS2AXI R (7302)
554,800,000 554,800
< 166,440
Al 388,360
307 elzto| & 844,000 826,560 17,440
= 253,200
Al 530,800
1 AMISXAIEEXS 844,000 826,560 17,440
OZAOtsSAIKA (XIHotsSHH 15014)
844,000,000 844,000
== 253,200
Al 590,800
ZA0tSE4RE 204,000 269,500 65,500
= 204,000
301 EetE NS 204,000 269,500 65,500
== 204,000
02 A2 X LGS (FHAAHS, XNLWE) 204,000 0 204,000
OZAOIsSAXE (LSHISEIAHELS)(
300%) 8,000 x3002 +85& 204,000
= 204,000
OlSSXAE2E 2,486,760 2,450,000 36,760
= 373,014
Al 2,113,746
307 el2to| & 2,486,760 2,450,000 36,760
= 373,014
Al 2,113,746
10 AlRISXAZEE 22X 2,486,760 2,450,000 36,760
OOtS2sAIE 22| 2 (2H2)
2,486,760,000& 2,486,760
[ 373,014
Al 2,113,746
OlS=XIAIE Ot E2stsisgs XE 208,764 215,033 26,269
= 104,382
Al 104,382
307 el2to| & 208,764 215,033 26,269
= 104,382
Al 104,382
1 AMISXAIEEXE 208,764 215,033 26,269




2A:

Ar2l = X 2t

mu: 5|oQls Ols =K AH
celr 201E Ots=A EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OOIS=TMEBAIL SEES XA (3NL)
208,764,000 208,764
= 104,382
Al 104,382
OISSXAESANESZRE 101,400 107,400 26,000
== 50,700
Al 50,700
301 22N 101,400 107,400 26,000
[ 50,700
Al 50,700
03 AL 2 & A 263 (XL E) 101,400 0 101,400
OOISEXANE(OISYFAIL, DEE) BM
It S+2R4E(489) 101,400,000 101,400
= 50,700
Al 50,700
2ES0ts 188 24 102,015 97,419 4,5%6
= 40,806
= 9,181
Al 52,028
307 elzto| & 102,015 97,419 4,5%
= 40,806
& 9,181
Al 52,028
10 Al SXAIEEHE2EHI 22X 102,015 97,419 4,5%
O3sd&IIg(08S) 29! XA (1A, 3
) 102,015,000& 102,015
= 40,806
< 9,181
Al 52,028
QES0ts 88 Al FIt X (Z/Al) 15,561 0 15,561
= 4,668
Al 10,893
307 gl2to| & 15,561 0 15,561
=S 4,668
Al 10,893
10 Al SXAEEE 22X 15,561 0 15,561
O0ts SSHEIE(O8S) Al =t X
2 (1HA, 3H) 15,561,000& 15,561
< 4,668
Al 10,893
OLSSXIAIESAHAM & 30,000 30,000 0
= 30,000
301 2= 30,000 30,000 0
< 30,000
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celr 201E Ots=A EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 AL 2 EH 263 (XL E) 30,000 0 30,000
OOIS=TAIS (OISLSAIL, IES) SA
A M IHEHI(508)
50,0003 x50 * 12& 30,000
= 30,000
OlsES eI 13,000 7,500 5,500
OlsE2sdMF 13,000 7,500 5,500
201 er23| 12,200 6,700 5,500
01 At2t2ltl 9,200 3,700 5,500
ONUZESAT A 2
50,0003 x4 x123] 2,400
OOLSEITHOIY DS AR
250,000 x2H *13] 500
Oots= s 2 2248 =25 &
cIEH 2 6,300,000 6,300
2 35234l 3,000 3,000 0
Ootssttsdtis HEsAl
3,000,000 3,000
202 04| 600 600
01 2L AL 600 600
Oots2s FRF2(3Y)
200,0002 34 600
301 LELE NS 200 200
14 JIEt2d=3 200 200
OLE30ls AZzd|
20,0003 %10 200
OrselAdsetd & 662,89% 637,786 25,110
= 274,038
= 8,000
Il 50,320
= 51,557
Al 278,981
OrSE2E XA %t 138,096 168,186 /30,090
= 9,668
S 6,214
Al 35,214
301 EtE NS 138,096 168, 186 230,090
= 9,668
< 6,214
Al 35,214
01 AR 2EHSHS(RDNEXRTHE) 138,096 168,186 /30,090
OOtsSLE RN Z K& (137F)
138,096,000 138,096
= 96,668
== 6,214
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| Al 35,214
LAOISIEXZ (LF+=SXE) 67,200 55,800 11,400
Jl 46,540
= 3,024
Al 17,636
301 EtE NS 67,200 55,800 11,400
Jl 46,540
= 3,024
Al 17,636
01 ARRIEEHSFS(RRNEERTHE) 67,200 55,800 11,400
OYLOIE YF2YXL
200,000 x28H *12& 67,200
) 46,540
= 3,024
Al 17,636
YAOISIHEXH (BL=efI2t 2% XIH) 710 700 10
Jl 490
Al 220
301 EtE NS 710 700 10
Il 490
Al 220
01 Al 2E AT S(SREXME) 710 700 10
Ogg=e2t 21 XI&
710,000 x 112 710
Jl 490
Al 220
LAOLSIHEXI 2 (L LHISXH) 2,700 5,400 22,700
) 1,890
& 121
Al 689
301 EtE NS 2,700 5,400 22,700
Jl 1,890
< 121
Al 689
01 AR 2EHSHS(RDNEXRTHE) 2,700 5,400 A2,700
OYgesd U HalHIE X
2,700,000&x18*13] 2,700
Jl 1,890
== 121
Al 689
ge=ol=s K& 2,000 2,000 0
Il 1,400
== 0
Al 510
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 2,000 2,000 0
Jl 1,400
== 0
Al 510
01 AR 2EHSHS(RNEXRTHE) 2,000 2,000 0
Oge=ol=a X 2,000,000&x1&*13] 2,000
Jl 1,400
=S 0
Al 510
IHEAE L= 107,600 109,500 21,900
< 10,760
Al 96,840
301 EtE NS 107,600 109,500 21,900
= 10,760
Al 96,840
02 ALRI2EH LGS (FHAAHS, NLWE) 107,600 0 107,600
oJrtgsgdsxd 107,600
OlEsle gg8xa
400,000 x22E 122 105,600
== 10,560
Al 95,040
OlESIE olsRETAY|
1,000,000& «2H1& 2,000
= 200
Al 1,800
IHERE Ssgs NE 45,690 29,400 16,290
== 4,569
Al 41,121
301 22N = 45,690 29,400 16,290
[ 4,569
Al 41,121
02 AR 2EH 2GS (HAAS, NWE) 45,690 0 45,690
Otges stegs XN (2%)
45,690,000 45,690
= 4,569
Al 41,121
2AIRE d20ts2=Hl X&E 4,500 9,000 4,500
= 3,180
= 202
Al 1,148
301 EtE N = 4,500 9,000 24,500
= 3,180
= 202
Al 1,148
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SA: ABIZXID
MM 5|UUs OIS=X A
CH9l: 0HS 2212

SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 45,500
25EE0ts MHE=E 206,400 136,800 69,600
= 165,120
= 6,192
Al 35,088
301 EtE NS 206,400 136,800 69,600
= 165,120
= 6,192
Al 35,088
01 Al EE A ZS(2REXMR) 206,400 136,800 69,600
OA&, JIE9IE BBE20IE TRI4E X
2 (43%) 400,000 x43H * 12& 206,400
= 165,120
= 6,192
Al 35,088
OlSEsdgRE A 10,000 15,000 /5,000
[ 8,000
= 300
Al 1,700
201 er23 | 2,200 3,500 21,300
= 1,760
< 66
Al 374
01 At2t2ltl 1,240 2,540 1,300
OOtS=E3 Atdl2tel g3 X3
1,240,000 1,240
= 992
< 37
Al 21
02 S5=2g4l 960 960 0
OS2 e 88 38 0IsStR=
40,0002 =2 * 12043 960
fas 768
< 2
Al 163
202 04l 800 1,000 A200
= 640
[ 24
Al 136
01 2LHoIH 800 1,000 A200
OUELR-TES L)
400,000 »2H 800
= 640
& 24




slatRls OlE=T A
OlsoAdyete & EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 136
301 LEtE NS 7,000 10,500 A3,500
[ 5,600
= 210
Al 1,190
01 Al EE A S (2 RDEXMA) 7,000 10,500 23,500
OESHa0ts 2A2Hl, AHIASAH HS E
JIEHKIAHI 7,000,000& 7,000
[ 5,600
= 210
Al 1,190
2s0tsodsstdd 53,780 32,195 21,585
OlsEsdEII2 2H(013/24d) 37,136 21,382 15,754
308 AtXIEHMSOIE 37,136 21,382 15,754
07 AX 2L FE= 37,136 21,382 16,754
OZIIYFOISLEHSI|B 2F 22
37,136,000 37,136
SESHE2I|2 SAL EF22FE 3,460 2,311 1,149
308 XXM SOl 3,460 2,311 1,149
07 AX R FE= 3,460 2,311 1,149
2T AROISESHSI|T EAT S4
225 FE3 3,460,000& 3,460
2SdEJ12 el X2 5,843 8,250 N2,407
8 NAISHHSOIH 5,843 8,250 N2,407
[PNPNI= P FAE == 5,843 8,250 N2,407
OZIIESFOISESHSI|Z 22yl X2
fE= 5,843,000& 5,843
OlsEsdEI12t 1Ad| =t X 7,341 7,341
308 XXM SOIA 7,341 7,341
07 AX R FE= 7,341 7,341
OBJIF0tsESHEI|& 2] FIt X
o 2Es 7,341,000& 7,341
HH2LIHI(ALBI=XD) 308,646 258,838 49,808
= 118,075
[ 52,200
= 16,655
Al 121,716
J1=22HI(AtsI =Xt 25,120 24,700 420
J|22HI(AISI S XDt 25,120 24,700 420
201 er=23| 17,800 17,800
01 At2teltl 17,000 17,000
ORMEEAIR 22l 17,000,000 17,000
02 S3=gHl 800 800 0




SA: ASIZXID
M HHE2HHHI(AEI=XID)
S©2lr J1=2ZI(ALEI= X1 (SH9: &)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
ORHERI(SIIRH/BIE 5)
800,000& 800
202 (4t 2,100 2,100
01 =LHO4 b 2,100 2,100
OgRFZ J|20idl(21Y) 2,100,000& 2,100
203 LR =&IH| 5,040 4,800 240
M ARG 5,040 4,800 240
O AL LRI (340)
420,000 128 5,040
405 Kt S| 180 180
01 XL = SH = 180 180
OMEE X # 180,000& 180
QIR HH|(ALSISXI1t) 283,526 234,138 49,388
= 118,075
= 52,200
= 16,655
Al 9%6,5%
FUHE OlSSEAHIA XA (2124H]) 151,211 114,927 36,284
= 104,319
& 7,825
Al 39,067
101 @I 4| 134,523 100,368 34,155
= 90,967
& 6,822
Al 36,734
03 SR (RIHL) 22X B+ 134,523 100,368 34,155
OO0tSSEAZEIASRE) ol21H| 134,523
Jl2z2(BA=X1(2Y), HEAMRA(1Y)
S8/958) 2,150,000&+3H*12& 77,400
= 61,920
& 4,644
Al 10,836
Jl2z2(BA=X2, 11s8/1258)
2,696, 1102 1B+ 128 32,34
= 25,882
= 1,941
Al 4,531
-Jl22(AIHIFEIORIA)
290, 7302 x2H 123 6,978
-HE2zsY
16,490R »4H+5A| 2+ 128 3,958
= 3,165
= 237
Al 556




SA: ASIZXID
M HAPAZHI(ALEIZRD)
CHel: QI 2AHH|(ALSISXIDH) (S &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
IEE 40,0003 =32+ 128 1,440
PN y= ) S 92,4802 x3& 12 3,330
-EE=0Hl
(2,898,280 x2% )+(3,265, 40+ 1) 9,063
WM HsEE=S 16,688 14,559 2,129
= 13,352
=S 1,003
Al 2,333
M SRA(RIAHSL) 22N BEE2RE=s S 16,688 6.471 10,217
o=tz 283 6.,284,000& 6,284
= 5,027
= 378
Al 879
Oz, FIIRLEY FE=
5,911,000& 5,911
= 4,729
= 355
Al 827
O1NE, &M 282 4,493,000 4,493
= 3,5%6
= 270
Al 627
OFSEXILAL X2 (2124H]) 36,477 37,203 AT26
= 13,756
= 6.874
Al 16,847
101 21A4H| 33,106 32,452 654
= 12,072
= 6,030
Al 15,004
03 SRH(RINHA) 222+ 33,106 32,452 654
OOtsSE X WAL I (KIHASI S XA 33,106
DI2S(BARN, 153/28 )
2,011,000~ 1E« 122 24,132
= 12,072
= 6,030
Al 6,030
JlE2a(AbIFEE)
236,230 x1H« 122 2,83
A= 120,000& x 1= 123 1,440
PN =) S 86,0802 x1&*12& 1,033
-2 S0l 2,696,680 %1 2,697
-H¥Z2E2=
16, 1402« 1H+5A| 2+ 123 969
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3,371
1,684
844
843

4,751
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0
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1,187,760

1,402,920

780,000&

Mo

=

= H W

Mo

=

3,371
1,188
592
298
298

1,403
702
351
350
780
390
195
195

2,526

845

SARNEY

=

95,838
52,200

1,956
41,682

82,008

13,830

101 e124d|

Mo

85,208
52,200

1,956
31,052

73,259

11,949

2,670,610 1+ 123

19, 703 x 1 *12A1 2H= 123

60,0003 18 =128

12,7802 +8A1 2+ 12
3,204, 7403 1 x28

Mo

=

SARNEY

85,208

43,166
32,048
25,618
961
5,469

2,761
1,169

1,548

720
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73,259
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